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public class Solution {
public int MoreThanHalfNum_Solution(int [] array) {
if (array == null || array.length == 0)
return O;
int tmp = array[0];
int length = 1;
for (inti = 1;i < array.length; i++) {
if (array[i] == tmp)
length++;
if (array[i] != tmp)
length--;
if (length == -1) {
tmp = array[i];
length = 1;
}

}
length = 0;
for (inti = 0; i < array.length; i++) {
if (array[i] == tmp)
length++;

}
if (length > array.length/2)

return tmp;
return O;

R AP HINREGEIS — R0


https://ld246.com/article/1518859130010

